# CONGRUENCES FOR TRUNCATED HYPERGEOMETRIC SERIES $\mathbf{2}_{\mathbf{2}} \boldsymbol{F}_{1}$ 

JI-CAI LIU

(Received 7 December 2016; accepted 10 January 2017; first published online 6 March 2017)


#### Abstract

Rodriguez-Villegas conjectured four supercongruences associated to certain elliptic curves, which were first confirmed by Mortenson by using the Gross-Koblitz formula. In this paper we prove four supercongruences between two truncated hypergeometric series ${ }_{2} F_{1}$. The results generalise the four Rodriguez-Villegas supercongruences.


2010 Mathematics subject classification: primary 11A07; secondary 33C05.
Keywords and phrases: supercongruence, hypergeometric series, Fermat quotient.

## 1. Introduction

In 2003, Rodriguez-Villegas [13] studied hypergeometric families of Calabi-Yau manifolds. He observed numerically some remarkable supercongruences between the values of the truncated hypergeometric series and expressions derived from the number of $F_{p}$-points of the associated Calabi-Yau manifolds. A number of supercongruences for hypergeometric Calabi-Yau manifolds have been conjectured by RodriguezVillegas. For manifolds of dimension $d=1$, he conjectured four supercongruences associated to certain elliptic curves. These four supercongruences were first confirmed by Mortenson [9,10] by using the Gross-Koblitz formula.

To state these results, we first define the truncated hypergeometric series. For complex numbers $a_{i}, b_{j}$ and $z$, with none of the $b_{j}$ being negative integers or zero, the truncated hypergeometric series are given by

$$
{ }_{r} F_{s}\left[\begin{array}{l}
a_{1}, a_{2}, \ldots, a_{r} \\
b_{1}, b_{2}, \ldots, b_{s}
\end{array} ; z\right]_{n}=\sum_{k=0}^{n-1} \frac{\left(a_{1}\right)_{k}\left(a_{2}\right)_{k} \cdots\left(a_{r}\right)_{k}}{\left(b_{1}\right)_{k}\left(b_{2}\right)_{k} \cdots\left(b_{s}\right)_{k}} \cdot \frac{z^{k}}{k!},
$$

where $(a)_{0}=1$ and $(a)_{k}=a(a+1) \cdots(a+k-1)$ for $k \geq 1$.

[^0]Theorem 1.1 (Rodriguez-Villegas and Mortenson). Let $p \geq 5$ be a prime. Then

$$
\begin{aligned}
& { }_{2} F_{1}\left[\begin{array}{c}
\frac{1}{2}, \frac{1}{2} \\
1
\end{array} 1\right]_{p} \equiv\left(\frac{-1}{p}\right)\left(\bmod p^{2}\right), \\
& \left.{ }_{2} F_{1}\left[\begin{array}{c}
\frac{1}{3}, \frac{2}{3} \\
1
\end{array}\right]\right]_{p} \equiv\left(\frac{-3}{p}\right)\left(\bmod p^{2}\right), \\
& { }_{2} F_{1}\left[\begin{array}{c}
\frac{1}{4}, \frac{3}{4} \\
1
\end{array} 1\right]_{p} \equiv\left(\frac{-2}{p}\right)\left(\bmod p^{2}\right), \\
& { }_{2} F_{1}\left[\begin{array}{c}
\frac{1}{6}, \frac{5}{6} \\
1
\end{array} 1\right]_{p} \equiv\left(\frac{-1}{p}\right)\left(\bmod p^{2}\right),
\end{aligned}
$$

where $(\dot{\bar{p}})$ denotes the Legendre symbol.
For more proofs of Theorem 1.1, see [3, 14, 18, 19]. Some extensions of the congruences in Theorem 1.1 to modulus $p^{3}$ were obtained in [15, 16]. For some interesting $q$-analogues of Theorem 1.1, see [6, 7]. By studying the generalised Legendre polynomials, Sun [14] extended Theorem 1.1 as follows.

Theorem 1.2 (Sun). Let $p \geq 5$ be a prime. For any p-adic integer $x$,

$$
{ }_{2} F_{1}\left[\begin{array}{c}
x, 1-x  \tag{1.1}\\
1
\end{array} ; 1\right]_{p} \equiv(-1)^{\langle-x\rangle_{p}}\left(\bmod p^{2}\right),
$$

where $\langle a\rangle_{p}$ denotes the least non-negative integer $r$ with $a \equiv r(\bmod p)$.
Observe that
$(-1)^{\langle-1 / 2\rangle_{p}}=\left(\frac{-1}{p}\right), \quad(-1)^{\langle-1 / 3\rangle_{p}}=\left(\frac{-3}{p}\right), \quad(-1)^{\langle-1 / 4\rangle_{p}}=\left(\frac{-2}{p}\right), \quad(-1)^{\langle-1 / 6\rangle_{p}}=\left(\frac{-1}{p}\right)$.
Thus Theorem 1.2 reduces to Theorem 1.1 when $x=\frac{1}{2}, \frac{1}{3}, \frac{1}{4}, \frac{1}{6}$.
Apéry introduced the numbers

$$
A_{n}=\sum_{k=0}^{n}\binom{n}{k}^{2}\binom{n+k}{k}^{2}
$$

now known as Apéry numbers, in his ingenious proof [1] of the irrationality of $\zeta(3)$. Since the appearance of these numbers, some interesting arithmetic properties have gradually been discovered. For example, Gessel [5] proved that, for any prime $p \geq 5$,

$$
A_{n p} \equiv A_{n}\left(\bmod p^{3}\right),
$$

which confirmed a conjecture by Chowla et al. [4].
We aim to prove similar supercongruences for the truncated hypergeometric series ${ }_{2} F_{1}$, which generalise the four supercongruences in Theorem 1.1.
Theorem 1.3. Suppose $p \geq 5$ is a prime and $n$ is a positive integer. For $x \in\left\{\frac{1}{2}, \frac{1}{3}, \frac{1}{4}, \frac{1}{6}\right\}$,

$$
{ }_{2} F_{1}\left[\begin{array}{c}
x, 1-x  \tag{1.2}\\
1
\end{array} ; 1\right]_{n p} \equiv(-1)^{\langle-x\rangle_{p}} \cdot{ }_{2} F_{1}\left[\begin{array}{c}
x, 1-x \\
1
\end{array} ; 1\right]_{n}\left(\bmod p^{2}\right) .
$$

Theorem 1.3 reduces to Theorem 1.1 when $n=1$. Replacing $n$ by $p^{r-1}$ in (1.2) and then using induction, we immediately get the following result, which is a special case of [6, Theorem 1.1].

Corollary 1.4. Suppose $p \geq 5$ is a prime and $r$ is a positive integer. For $x \in$ $\left\{\frac{1}{2}, \frac{1}{3}, \frac{1}{4}, \frac{1}{6}\right\}$,

$$
{ }_{2} F_{1}\left[\begin{array}{c}
x, 1-x \\
1
\end{array} ; 1\right]_{p^{r}} \equiv(-1)^{\langle-x\rangle_{p} \cdot r}\left(\bmod p^{2}\right) .
$$

This paper is organised as follows. In the next section we first recall some properties of the Fermat quotients and some combinatorial identities involving harmonic numbers, and then prove two congruences. In Section 3 we give a new proof of Theorem 1.2 by using combinatorial identities. The proof of Theorem 1.3 is given in the Section 4. We make some concluding remarks in the final section.

## 2. Some lemmas

The Fermat quotient of an integer $a$ with respect to an odd prime $p$ is given by

$$
q_{p}(a)=\frac{a^{p-1}-1}{p} .
$$

The Fermat quotient plays an important role in the study of cyclotomic fields.
Lemma 2.1 (Eisenstein). Suppose $p$ is an odd prime and $r$ is a positive integer. For nonzero $p$-adic integers $a$ and $b$,

$$
\begin{gathered}
q_{p}(a b) \equiv q_{p}(a)+q_{p}(b)(\bmod p) \\
q_{p}\left(a^{r}\right) \equiv r q_{p}(a)(\bmod p) .
\end{gathered}
$$

Lemma 2.2 (Lehmer [8]). Let $H_{n}=\sum_{k=1}^{n}(1 / k)$ be the nth harmonic number. For any prime $p \geq 5$,

$$
\begin{gathered}
H_{\lfloor p / 2\rfloor} \equiv-2 q_{p}(2)(\bmod p), \quad H_{\lfloor p / 3\rfloor} \equiv-\frac{3}{2} q_{p}(3)(\bmod p), \\
H_{\lfloor p / 4\rfloor} \equiv-3 q_{p}(2)(\bmod p), \quad H_{\lfloor p / 6\rfloor} \equiv-2 q_{p}(2)-\frac{3}{2} q_{p}(3)(\bmod p),
\end{gathered}
$$

where $\lfloor x\rfloor$ denotes the greatest integer less than or equal to a real number $x$.
Lemma 2.3. If $n$ is a positive integer, then

$$
\begin{gather*}
\sum_{k=0}^{n}(-1)^{k}\binom{n}{k}\binom{n+k}{k}=(-1)^{n},  \tag{2.1}\\
\sum_{k=1}^{n}(-1)^{k}\binom{n}{k}\binom{n+k}{k} H_{k}=2(-1)^{n} H_{n},  \tag{2.2}\\
\sum_{k=1}^{n}(-1)^{k}\binom{n}{k}\binom{n+k}{k} \sum_{i=1}^{k} \frac{1}{n+i}=(-1)^{n} H_{n} . \tag{2.3}
\end{gather*}
$$

Proof. Prodinger [12] has given a proof of (2.1)-(2.2) by partial fraction decomposition and creative telescoping (see also [11]). Using the same method, Prodinger [12] also obtained the identity

$$
\begin{equation*}
\sum_{k=1}^{n}(-1)^{k}\binom{n}{k}\binom{n+k}{k} H_{n+k}=2(-1)^{n} H_{n} \tag{2.4}
\end{equation*}
$$

By (2.1) and (2.4),

$$
\sum_{k=1}^{n}(-1)^{k}\binom{n}{k}\binom{n+k}{k} \sum_{i=1}^{k} \frac{1}{n+i}=\sum_{k=1}^{n}(-1)^{k}\binom{n}{k}\binom{n+k}{k}\left(H_{n+k}-H_{n}\right)=(-1)^{n} H_{n}
$$

This proves (2.3).
Lemma 2.4. Let $p \geq 5$ be a prime and let $r$ and $k$ be nonnegative integers with $0 \leq k \leq p-1$. For $x \in\left\{\frac{1}{2}, \frac{1}{3}, \frac{1}{4}, \frac{1}{6}\right\}$,

$$
\begin{align*}
& \frac{(x)_{k+r p}(1-x)_{k+r p}}{(1)_{k+r p}^{2}} \equiv \frac{(x)_{r}(1-x)_{r}}{(1)_{r}^{2}} \cdot \frac{(x)_{k}(1-x)_{k}}{(1)_{k}^{2}} \\
& \quad \times\left(1+2 r p H_{\lfloor p x\rfloor}-2 r p H_{k}+r p \sum_{i=0}^{k-1}\left(\frac{1}{x+i}+\frac{1}{1-x+i}\right)\right)\left(\bmod p^{2}\right) . \tag{2.5}
\end{align*}
$$

Proof. Note that

$$
\frac{(x)_{n}(1-x)_{n}}{(1)_{n}^{2}}=\frac{S_{x}(n)}{a_{x}^{n}},
$$

where

$$
S_{x}(n)= \begin{cases}\binom{2 n}{n}^{2} & \text { if } x=\frac{1}{2} \\ \binom{2 n}{n}\binom{3 n}{n} & \text { if } x=\frac{1}{3} \\ \binom{2 n}{n}\binom{4 n}{2 n} & \text { if } x=\frac{1}{4} \\ \binom{3 n}{n}\binom{6 n}{3 n} & \text { if } x=\frac{1}{6}\end{cases}
$$

and $a_{1 / 2}=16, a_{1 / 3}=27, a_{1 / 4}=64$ and $a_{1 / 6}=432$. Thus (2.5) is equivalent to

$$
\begin{align*}
& S_{x}(k+r p) \equiv a_{x}^{r(p-1)} S_{x}(r) S_{x}(k) \\
& \quad \times\left(1+2 r p H_{\lfloor p x\rfloor}-2 r p H_{k}+r p \sum_{i=0}^{k-1}\left(\frac{1}{x+i}+\frac{1}{1-x+i}\right)\right)\left(\bmod p^{2}\right) . \tag{2.6}
\end{align*}
$$

By Lemmas 2.1 and 2.2,

$$
a_{x}^{r(p-1)} \equiv 1+p q_{p}\left(a_{x}^{r}\right) \equiv 1+r p q_{p}\left(a_{x}\right) \equiv 1-2 r p H_{\lfloor p x\rfloor}\left(\bmod p^{2}\right) .
$$

So in order to prove (2.6), it suffices to show that

$$
\begin{equation*}
S_{x}(k+r p) \equiv S_{x}(r) S_{x}(k)\left(1-2 r p H_{k}+r p \sum_{i=0}^{k-1}\left(\frac{1}{x+i}+\frac{1}{1-x+i}\right)\right)\left(\bmod p^{2}\right) . \tag{2.7}
\end{equation*}
$$

Note that

$$
\begin{gathered}
\sum_{j=0}^{k-1}\left(\frac{1}{j+1 / 2}+\frac{1}{j+1 / 2}\right)=4 H_{2 k}-2 H_{k}, \\
\sum_{j=0}^{k-1}\left(\frac{1}{j+1 / 3}+\frac{1}{j+2 / 3}\right)=3 H_{3 k}-H_{k}, \\
\sum_{j=0}^{k-1}\left(\frac{1}{j+1 / 4}+\frac{1}{j+3 / 4}\right)=4 H_{4 k}-2 H_{2 k}, \\
\sum_{j=0}^{k-1}\left(\frac{1}{j+1 / 6}+\frac{1}{j+5 / 6}\right)=6 H_{6 k}-3 H_{3 k}-2 H_{2 k}+H_{k} .
\end{gathered}
$$

Thus (2.7) becomes the following set of congruences modulus $p^{2}$ :

$$
\begin{gather*}
\binom{2 r p+2 k}{r p+k}^{2} \equiv\binom{2 r}{r}^{2}\binom{2 k}{k}^{2}\left(1+r p\left(4 H_{2 k}-4 H_{k}\right)\right),  \tag{2.8}\\
\binom{2 r p+2 k}{r p+k}\binom{3 r p+3 k}{r p+k} \equiv\binom{2 r}{r}\binom{3 r}{r}\binom{2 k}{k}\binom{3 k}{k}\left(1+r p\left(3 H_{3 k}-3 H_{k}\right)\right),  \tag{2.9}\\
\binom{2 r p+2 k}{r p+k}\binom{4 r p+4 k}{2 r p+2 k} \equiv\binom{2 r}{r}\binom{4 r}{2 r}\binom{2 k}{k}\binom{4 k}{2 k}\left(1+r p\left(4 H_{4 k}-2 H_{2 k}-2 H_{k}\right)\right),  \tag{2.10}\\
\binom{3 r p+3 k}{r p+k}\binom{6 r p+6 k}{3 r p+3 k} \equiv\binom{3 r}{r}\binom{6 r}{3 r}\binom{3 k}{k}\binom{6 k}{3 k}\left(1+r p\left(6 H_{6 k}-3 H_{3 k}-2 H_{2 k}-H_{k}\right)\right) . \tag{2.11}
\end{gather*}
$$

We give the proof of (2.8). The proofs of (2.9)-(2.11) run analogously.
Note that

$$
\begin{align*}
\binom{2 r p+2 k}{r p+k} & =\binom{2 r p}{r p} \prod_{i=1}^{2 k}(2 r p+i) / \prod_{i=1}^{k}(r p+i)^{2} \\
& \equiv\binom{2 r}{r} \prod_{i=1}^{2 k}(2 r p+i) / \prod_{i=1}^{k}(r p+i)^{2}\left(\bmod p^{2}\right) \tag{2.12}
\end{align*}
$$

where we have utilised Babbage's theorem [2]

$$
\binom{a p}{b p} \equiv\binom{a}{b}\left(\bmod p^{2}\right)
$$

Now we consider the rational function

$$
\begin{equation*}
f(x)=\prod_{i=1}^{2 k}(2 r x+i) / \prod_{i=1}^{k}(r x+i)^{2} . \tag{2.13}
\end{equation*}
$$

Taking the logarithmic derivative on both sides of (2.13) gives

$$
\begin{equation*}
\frac{f^{\prime}(x)}{f(x)}=\sum_{i=1}^{2 k} \frac{2 r}{2 r x+i}-2 \sum_{i=1}^{k} \frac{r}{r x+i} \tag{2.14}
\end{equation*}
$$

From (2.13) and (2.14),

$$
f(0)=\binom{2 k}{k} \quad \text { and } \quad f^{\prime}(0)=r\binom{2 k}{k}\left(2 H_{2 k}-2 H_{k}\right),
$$

which gives the first two terms of the Taylor expansion for $f(x)$ :

$$
\begin{equation*}
f(x)=\binom{2 k}{k}+r x\binom{2 k}{k}\left(2 H_{2 k}-2 H_{k}\right)+O\left(x^{2}\right) . \tag{2.15}
\end{equation*}
$$

Combining (2.12) and (2.15),

$$
\binom{2 r p+2 k}{r p+k} \equiv\binom{2 r}{r}\binom{2 k}{k}\left(1+r p\left(2 H_{2 k}-2 H_{k}\right)\right)\left(\bmod p^{2}\right) .
$$

It follows that

$$
\binom{2 r p+2 k}{r p+k}^{2} \equiv\binom{2 r}{r}^{2}\binom{2 k}{k}^{2}\left(1+r p\left(4 H_{2 k}-4 H_{k}\right)\right)\left(\bmod p^{2}\right)
$$

This concludes the proof of (2.8).
Lemma 2.5. Suppose $p \geq 5$ is a prime and $k$ is an integer with $0 \leq k \leq p-1$. For $x \in\left\{\frac{1}{2}, \frac{1}{3}, \frac{1}{4}, \frac{1}{6}\right\}$,

$$
\begin{equation*}
\frac{(x)_{k}(1-x)_{k}}{(1)_{k}^{2}} \equiv(-1)^{k}\binom{\lfloor p x\rfloor}{ k}\binom{\lfloor p x\rfloor+k}{k}(\bmod p) . \tag{2.16}
\end{equation*}
$$

Proof. It suffices to show that, for $0 \leq k \leq p-1$,

$$
\begin{equation*}
(\lfloor p x\rfloor+1)_{k}(-\lfloor p x\rfloor)_{k} \equiv(x)_{k}(1-x)_{k}(\bmod p) . \tag{2.17}
\end{equation*}
$$

For any prime $p \geq 5$, there exists $\varepsilon \in\{1,-1\}$ such that $p \equiv \varepsilon(\bmod 2,3,4,6)$. We give the proof of (2.17) for $x=\frac{1}{3}$. The proofs of the other three cases run similarly.

If $p \equiv 1(\bmod 3)$, then $\lfloor p / 3\rfloor=\frac{1}{3}(p-1)$ and hence

$$
\left(\frac{p+2}{3}\right)_{k}\left(\frac{-p+1}{3}\right)_{k} \equiv\left(\frac{2}{3}\right)_{k}\left(\frac{1}{3}\right)_{k}(\bmod p) .
$$

If $p \equiv-1(\bmod 3)$, then $\lfloor p / 3\rfloor=\frac{1}{3}(p-2)$ and so

$$
\left(\frac{p+1}{3}\right)_{k}\left(\frac{-p+2}{3}\right)_{k} \equiv\left(\frac{2}{3}\right)_{k}\left(\frac{1}{3}\right)_{k}(\bmod p) .
$$

This yields (2.17) for $x=\frac{1}{3}$.

## 3. A new proof of Theorem 1.2

Letting $x \rightarrow-x$ in Theorem 1.2, (1.1) is equivalent to

$$
{ }_{2} F_{1}\left[\begin{array}{c}
-x, 1+x  \tag{3.1}\\
1
\end{array}\right]_{p} \equiv(-1)^{\langle x\rangle_{p}}\left(\bmod p^{2}\right) .
$$

It is easy to see that

$$
\frac{(-x)_{k}(1+x)_{k}}{(1)_{k}^{2}}=(-1)^{k}\binom{x}{k}\binom{x+k}{k}
$$

Let $\delta$ denote the number $\delta=\left(x-\langle x\rangle_{p}\right) / p$. It is clear that $\delta$ is a $p$-adic integer and $x=\langle x\rangle_{p}+\delta p$. Note that

$$
\begin{aligned}
\binom{x}{k}\binom{x+k}{k} & =\binom{\langle x\rangle_{p}+\delta p}{k}\binom{\langle x\rangle_{p}+\delta p+k}{k} \\
& =\prod_{i=1}^{k}\left(\langle x\rangle_{p}+\delta p+1-i\right) \prod_{i=1}^{k}\left(\langle x\rangle_{p}+\delta p+i\right)\left(\prod_{i=1}^{k} i^{-1}\right)^{2} \\
& \equiv\binom{\langle x\rangle_{p}}{k}\binom{\langle x\rangle_{p}+k}{k}\left(1+\delta p\left(\sum_{i=1}^{k} \frac{1}{\langle x\rangle_{p}+i}+\sum_{i=1}^{k} \frac{1}{\langle x\rangle_{p}+1-i}\right)\right)\left(\bmod p^{2}\right) .
\end{aligned}
$$

It follows that the left-hand side of (3.1) is congruent to

$$
\begin{equation*}
\sum_{k=0}^{p-1}(-1)^{k}\binom{\langle x\rangle_{p}}{k}\binom{\langle x\rangle_{p}+k}{k}\left(1+\delta p\left(\sum_{i=1}^{k} \frac{1}{\langle x\rangle_{p}+i}+\sum_{i=1}^{k} \frac{1}{\langle x\rangle_{p}+1-i}\right)\right)\left(\bmod p^{2}\right) \tag{3.2}
\end{equation*}
$$

Let $b=p-\langle x\rangle_{p}$. Clearly, $\langle x\rangle_{p} \equiv-b(\bmod p)$ and $0 \leq b-1 \leq p-1$. By (2.3),

$$
\begin{align*}
& \sum_{k=0}^{p-1}(-1)^{k}\binom{\langle x\rangle_{p}}{k}\binom{\langle x\rangle_{p}+k}{k} \sum_{i=1}^{k} \frac{1}{\langle x\rangle_{p}+1-i} \\
& \equiv-\sum_{k=0}^{p-1}\binom{-b}{k}\binom{-b+k}{k} \sum_{i=1}^{k} \frac{1}{b-1+i}(\bmod p) \\
&=-\sum_{k=0}^{p-1}\binom{b-1}{k}\binom{b-1+k}{k} \sum_{i=1}^{k} \frac{1}{b-1+i} \\
&=(-1)^{b} H_{b-1} \\
& \equiv(-1)^{\langle x\rangle_{p}+1} H_{\langle x\rangle_{p}}(\bmod p), \tag{3.3}
\end{align*}
$$

where we have used the observations $\binom{-b}{k}\binom{-b+k}{k}=\binom{b-1}{k}\binom{b-1+k}{k}$ in the second step and $H_{p-k-1} \equiv H_{k}(\bmod p)$ for $0 \leq k \leq p-1$ in the last step. By (2.1) and (2.3),

$$
\begin{equation*}
\sum_{k=0}^{p-1}(-1)^{k}\binom{\langle x\rangle_{p}}{k}\binom{\langle x\rangle_{p}+k}{k}=(-1)^{\langle x\rangle_{p}} \tag{3.4}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{k=0}^{p-1}(-1)^{k}\binom{\langle x\rangle_{p}}{k}\binom{\langle x\rangle_{p}+k}{k} \sum_{i=1}^{k} \frac{1}{\langle x\rangle_{p}+i}=(-1)^{\left\langle\langle \rangle_{p}\right.} H_{\langle x\rangle_{p}} . \tag{3.5}
\end{equation*}
$$

By substituting (3.3)-(3.5) into (3.2), we complete the proof of (3.1).

## 4. Proof of Theorem 1.3

Assume $x \in\left\{\frac{1}{2}, \frac{1}{3}, \frac{1}{4}, \frac{1}{6}\right\}$. We first prove that for any nonnegative integer $r$,

$$
\sum_{k=r p}^{(r+1) p-1} \frac{(x)_{k}(1-x)_{k}}{(1)_{k}^{2}} \equiv \frac{(x)_{r}(1-x)_{r}}{(1)_{r}^{2}} \cdot{ }_{2} F_{1}\left[\begin{array}{c}
x, 1-x  \tag{4.1}\\
1
\end{array} ; 1\right]_{p}\left(\bmod p^{2}\right)
$$

Letting $k \rightarrow k+r p$ on the left-hand side of (4.1) and then applying Lemma 2.4,

$$
\begin{align*}
& \sum_{k=r p}^{(r+1) p-1} \frac{(x)_{k}(1-x)_{k}}{(1)_{k}^{2}} \equiv \frac{(x)_{r}(1-x)_{r}}{(1)_{r}^{2}} \sum_{k=0}^{p-1} \frac{(x)_{k}(1-x)_{k}}{(1)_{k}^{2}} \\
& \quad \times\left(1+2 r p H_{\lfloor p x\rfloor}-2 r p H_{k}+r p \sum_{i=0}^{k-1}\left(\frac{1}{x+i}+\frac{1}{1-x+i}\right)\right)\left(\bmod p^{2}\right) . \tag{4.2}
\end{align*}
$$

Here, we apply the following identity [19, Theorem 1]:

$$
\frac{(x)_{k}(1-x)_{k}}{(1)_{k}^{2}} \sum_{i=0}^{k-1}\left(\frac{1}{x+i}+\frac{1}{1-x+i}\right)=\sum_{i=0}^{k-1} \frac{(x)_{i}(1-x)_{i}}{(1)_{i}^{2}} \cdot \frac{1}{k-i},
$$

which yields

$$
\begin{gather*}
\sum_{k=0}^{p-1} \frac{(x)_{k}(1-x)_{k}}{(1)_{k}^{2}} \sum_{i=0}^{k-1}\left(\frac{1}{x+i}+\frac{1}{1-x+i}\right)=\sum_{k=0}^{p-1} \sum_{i=0}^{k-1} \frac{(x)_{i}(1-x)_{i}}{(1)_{i}^{2}} \cdot \frac{1}{k-i} \\
=\sum_{i=0}^{p-2} \frac{(x)_{i}(1-x)_{i}}{(1)_{i}^{2}} \sum_{k=i+1}^{p-1} \frac{1}{k-i} \equiv \sum_{i=0}^{p-1} \frac{(x)_{i}(1-x)_{i}}{(1)_{i}^{2}} H_{i}(\bmod p) \tag{4.3}
\end{gather*}
$$

since $H_{p-1-i} \equiv H_{i}(\bmod p)$ and $(x)_{i}(1-x)_{i} \equiv 0(\bmod p)$ for $i=p-1$.
It follows from (4.2) and (4.3) that

$$
\begin{align*}
& \sum_{k=r p}^{(r+1) p-1} \frac{(x)_{k}(1-x)_{k}}{(1)_{k}^{2}} \\
& \quad \equiv \frac{(x)_{r}(1-x)_{r}}{(1)_{r}^{2}}\left(\sum_{k=0}^{p-1} \frac{(x)_{k}(1-x)_{k}}{(1)_{k}^{2}}+r p \sum_{k=0}^{p-1} \frac{(x)_{k}(1-x)_{k}}{(1)_{k}^{2}}\left(2 H_{\lfloor p x\rfloor}-H_{k}\right)\right)\left(\bmod p^{2}\right) \tag{4.4}
\end{align*}
$$

By (2.16), (2.1) and (2.2),

$$
\begin{align*}
\sum_{k=0}^{p-1} \frac{(x)_{k}(1-x)_{k}}{(1)_{k}^{2}}\left(2 H_{\lfloor p x\rfloor}-H_{k}\right) & \equiv \sum_{k=0}^{p-1}(-1)^{k}\binom{\lfloor p x\rfloor}{ k}\binom{\lfloor p x\rfloor+k}{k}\left(2 H_{\lfloor p x\rfloor}-H_{k}\right)(\bmod p) \\
& =0 . \tag{4.5}
\end{align*}
$$

Substituting (4.5) into (4.4) completes the proof of (4.1).
Taking the sum over $r$ from 0 to $n-1$ on both sides of (4.1) gives

$$
\left.{ }_{2} F_{1}\left[\begin{array}{c}
x, 1-x  \tag{4.6}\\
1
\end{array}\right]_{n p} \equiv{ }_{2} F_{1}\left[\begin{array}{c}
x, 1-x \\
1
\end{array}\right]_{p}\right]_{2} F_{1}\left[\begin{array}{c}
x, 1-x \\
1
\end{array}\right]_{n}\left(\bmod p^{2}\right) .
$$

Theorem 1.3 follows from (1.1) and (4.6).

## 5. Concluding remarks

Numerical calculation suggests that the supercongruence (1.2) cannot be extended to any $p$-adic integer $x$ in the direction of Theorem 1.2.

Recently, Sun [17, Conjecture 5.4] made four challenging conjectures which extend Theorem 1.3 and some results proved by Zhi-Hong Sun [15] and Zhi-Wei Sun [16].

Conjecture 5.1 (Sun). Let $p \geq 5$ be a prime and $n$ be a positive integer. Then

$$
\begin{gathered}
\frac{16^{n}}{n^{2}\binom{2 n}{n}}\left(\sum_{k=0}^{n p-1} \frac{\binom{2 k}{k}^{2}}{16^{k}}-\left(\frac{-1}{p}\right) \sum_{k=0}^{n-1} \frac{\binom{2 k}{k}^{2}}{16^{k}}\right) \equiv-4 p^{2} E_{p-3}\left(\bmod p^{3}\right), \\
\frac{27^{n}}{n^{2}\binom{2 n}{n}\binom{3 n}{n}}\left(\sum_{k=0}^{n p-1} \frac{\binom{2 k}{k}\binom{3 k}{k}}{27^{k}}-\left(\frac{-3}{p}\right) \sum_{k=0}^{n-1} \frac{\binom{2 k}{k}\binom{3 k}{k}}{27^{k}}\right) \equiv-\frac{3}{2} p^{2} B_{p-2}\left(\frac{1}{3}\right)\left(\bmod p^{3}\right), \\
\frac{64^{n}}{n^{2}\binom{(2 n}{n}\binom{4 n}{2 n}}\left(\sum_{k=0}^{n p-1} \frac{\binom{2 k}{k}\binom{4 k}{2 k}}{64^{k}}-\left(\frac{-2}{p}\right) \sum_{k=0}^{n-1} \frac{\binom{2 k}{k}\binom{4 k}{2 k}}{64^{k}}\right) \equiv-p^{2} E_{p-3}\left(\frac{1}{4}\right)\left(\bmod p^{3}\right), \\
\frac{432^{n}}{n^{2}\binom{3 n}{n}\binom{6 n}{3 n}}\left(\sum_{k=0}^{n p-1} \frac{\binom{3 k}{k}\binom{6 k}{3 k}}{432^{k}}-\left(\frac{-1}{p}\right) \sum_{k=0}^{n-1} \frac{\binom{3 k}{k}\binom{6 k}{3 k}}{432^{k}}\right) \equiv-20 p^{2} E_{p-3}\left(\bmod p^{3}\right),
\end{gathered}
$$

where $E_{m}$ is the $m$ th Euler number and $E_{m}(x)$ and $B_{m}(x)$ denote the Euler polynomial and the Bernoulli polynomial of degree $m$, respectively.

Noting that

$$
\begin{gathered}
\frac{\binom{2 k}{k}^{2}}{16^{k}}=\frac{\left(\frac{1}{2}\right)_{k}^{2}}{(1)_{k}^{2}}, \quad \frac{\binom{2 k}{k}\binom{3 k}{k}}{27^{k}}=\frac{\left(\frac{1}{3}\right)_{k}\left(\frac{2}{3}\right)_{k}}{(1)_{k}^{2}} \\
\left.\frac{\binom{2 k}{k}\binom{4 k}{2 k}}{64^{k}}=\frac{\left(\frac{1}{4}\right)_{k}\left(\frac{3}{4}\right)_{k}}{(1)_{k}^{2}}, \quad \frac{\binom{3 k}{k}(6 k}{3 k}\right) \\
432^{k}
\end{gathered}=\frac{\left(\frac{1}{6}\right)_{k}\left(\frac{5}{6}\right)_{k}}{(1)_{k}^{2}},
$$

we can directly deduce Theorem 1.3 from Conjecture 5.1. Unfortunately, the method in this paper is not applicable for proving Conjecture 5.1.

## Acknowledgement

The author would like to thank Professor V. J. W. Guo for valuable comments which improved the presentation of the paper.

## References

[1] R. Apéry, 'Irrationalité de $\zeta(2)$ et $\zeta(3)$ ', Astérisque 61 (1979), 11-13.
[2] C. Babbage, 'Demonstration of a theorem relating to prime numbers', Edinburgh Philos. J. $\mathbf{1}$ (1819), 46-49.
[3] H. H. Chan, L. Long and W. Zudilin, 'A supercongruence motivated by the Legendre family of elliptic curves', Math. Notes 88 (2010), 599-602.
[4] S. J. Chowla, J. Cowles and M. Cowles, 'Congruence properties of Apéry numbers', J. Number Theory 12 (1980), 188-190.
[5] I. Gessel, 'Some congruences for Apéry numbers', J. Number Theory 14 (1982), 362-368.
[6] V. J. W. Guo, H. Pan and Y. Zhang, 'The Rodriguez-Villegas type congruences for truncated $q$ hypergeometric functions', J. Number Theory 174 (2017), 358-368.
[7] V. J. W. Guo and J. Zeng, 'Some $q$-analogues of supercongruences of Rodriguez-Villegas', J. Number Theory 145 (2014), 301-316.
[8] E. Lehmer, 'On congruences involving Bernoulli numbers and the quotients of Fermat and Wilson', Ann. of Math. (2) 39 (1938), 350-360.
[9] E. Mortenson, 'A supercongruence conjecture of Rodriguez-Villegas for a certain truncated hypergeometric function', J. Number Theory 99 (2003), 139-147.
[10] E. Mortenson, 'Supercongruences between truncated ${ }_{2} F_{1}$ hypergeometric functions and their Gaussian analogs', Trans. Amer. Math. Soc. 355 (2003), 987-1007.
[11] R. Osburn and C. Schneider, 'Gaussian hypergeometric series and supercongruences', Math. Comp. 78 (2009), 275-292.
[12] H. Prodinger, 'Human proofs of identities by Osburn and Schneider', Integers 8 (2008), A10, 8 pages.
[13] F. Rodriguez-Villegas, 'Hypergeometric families of Calabi-Yau manifolds', in: Calabi-Yau Varieties and Mirror Symmetry (Toronto, ON, 2001), Fields Institute Communications, 38 (American Mathematical Society, Providence, RI, 2003), 223-231.
[14] Z.-H. Sun, 'Generalized Legendre polynomials and related supercongruences', J. Number Theory 143 (2014), 293-319.
[15] Z.-H. Sun, ‘Supercongruences involving Euler polynomials', Proc. Amer. Math. Soc. 144 (2016), 3295-3308.
[16] Z.-W. Sun, 'Super congruences and Euler numbers', Sci. China Math. 54 (2011), 2509-2535.
[17] Z.-W. Sun, 'Supercongruences involving Lucas sequences', Preprint, 2016, arXiv:1610.03384.
[18] R. Tauraso, 'An elementary proof of a Rodriguez-Villegas supercongruence’, Preprint, 2009, arXiv:0911.4261.
[19] R. Tauraso, 'Supercongruences for a truncated hypergeometric series', Integers 12 (2012), A45, 12 pages.

## JI-CAI LIU, College of Mathematics and Information Science, Wenzhou University, Wenzhou 325035, PR China e-mail: jc2051@163.com


[^0]:    (C) 2017 Australian Mathematical Publishing Association Inc. 0004-9727/2017 \$16.00

